26 X1 Cd (s) = Cd2* (ag)+ 2 e~
Agt(aq)+e~ = Ag(s) (x2)

Cd (s)+ 2 Ag*(aq) — Cd?*(aq) + 2 Ag (s)

mcd 30
2.n(Cd), = —=———=0,27 mol

Mcyg 112,4
m 30

n(Ag); = “Ag_ _2Y 0,28 mol
Mpg 108,0

n(Ag+)i - n(Cd2+), = ¢-V=0,15% 0,250 = 0,038 mol

Equation Cd(s) + 2Ag*'(aq) —» Cd?*(aq) + 2Ag(s)
Etat Quantités de matiére (en mol)
initial 0,27 0,038 0,038 0,28
intermédiaire 0,27 -x 0,038 - 2x 0,038 +x 0,28+2x
maximal 0,27 = Xmax | 0,038 = 2X1ax | 0,038 + X0 | 0,28 + 2X 14
Si Cd est limitant, alors 0,27 — X,;,5¢ = 0 et X;,51 = 0,27 mol.
Si Ag™ est limitant, alors 0,038 — 2,5 = 0 et X,,5x = 0,019 mol.

0,019 <0,27, donc Ag™ est limitant.
3. Qmax = N€7) *Ny e = n(Ag+); x6,02x 1023 x 1,6 x 10712 =3,6 x 103 C



